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=} (=] -
else:
for document in json_obj['documents']:
val = [document['y '], document] ' Mesds s &
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9 L= 4400 4405 4464 4471 4556 0113636 1.339387 0156810 1901141 O08&77744 4595
for i in range(len{office)) :
for j in range(len(crime)) : 10 <T@ 8746 9267 9308 9270 9510 5969125 0442430 0408251 2588997 2148075 9714
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XEH#(EE) YEH(YE) A
0 126.7595 ~ 126.7654 37.5535 ~ 37.557599999999994  1.000000
1 126.7654 ~ 126.77130000000001 37.5535 ~ 37.557599999999994 5246211
2 126.77130000000001 ~ 126.77720000000001 37.5494 ~ 37,5535  1.000000
3 126.77720000000001 ~ 126.7831 379453 ~ 37,5434 1.000000
4 126.77720000000001 ~ 126.7831 37.5535 ~ 37.557599999999994  1.000000

* Euclidean Distance M-8 H|O|E Of| Al
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MinMaxSeal@lo 2o oy, x4zt ol %07t oo =
- M2l : 1.0 ~ 472.65
_E% 1.0 ~ 570.0

B = feature

20| 0~1AtO[0f

=2 FO[E S YEH

L) K-
Means

kmeans = EMeans(n_clusters=9, init='k-means++"',

max_iter=3200, random_state=0) . fit (data)

datal 'target'] = data. &==
datal 'cluster'] = kmeaﬂs Iabels_
datal 'idx'] = data. index

* K-Means TE 0f A

cluster li=:9

init="k-means++' : X1 S

max-iter=300 : ZICH Y=
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XEH(AED) YEHEQR) He P B target cluster  idx

0 0 31 0.000000 0.000000 0.000000 4 0

1 1 31 0015364 0019332 0019332 4 1

2 2 30 0.000000 0.000000 0.000000 4 2

3 3 29 (0.000000 0.000000 0.000000 4 3

4 3 31 0.000000 0.000000 0.000000 4 4
2048 70 33 0.055673 0.115993 0.115993 3 2048
2049 70 34 0.024949 0.059754 0.059754 3 2049
2050 70 35 0.000878 0.001757 0.001757 3 2050
2051 71 32 0.007596 0.017575 0.017575 3 2051
2052 71 33 0004912 0019332 0019332 3 2052

2053 rows x 7 columns

* K-Means | O|E{ Of A
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5) 2 12|1EY cluster ¥Yig & M MAYRY wEd gHY ANNE NN L, RO s oR0LAd azDsd guR
}HT JIH'r s JIH'r ;HT JIH'r ;IIT T IJ?HT 0 HT }HT

o R 0030172 6262031 0146552 0129310 0685345 0318966 12232750 4443066 74504828 0051724 0573276 0051724 0.0
o ZF QUE0| ESE|E= cluster 2 B

0018957 5900953 0284360 0.047393 0251185 0175355 6985782 3075820 30630332 0014218 0649289 0014218 10
0015748 3822835 0209213 0.043307 0149606 0165354 5708661 2712508 36830700 00MaM 0673228 00MEM 20
0012448 6518672 0244813 0041494 0103734 0157675 4556017 2018508 20228216 0037344 0788382 0037344 30

0.000000 4510204 0251701 0034014 0061224 0129252 06489796 2.346939 32231293 0.013605 0.646259 0.013605 4.0

L O I =3

6) A SeAH T 127 Q2 F=X Hit

0.005025 5160804 0.160804 0.025126 0.140704 0.105528 4.211055 2.130653 23.924623 0.040201 0.527638 0.040201 5.0

6 0029963 4295880 0359551 0063670 0438202 0.172285 9.029963 3565543 53790262 0014981 0468165 0014981 60
o ZI EBAHO #EZ0| 7tR 12712 40| CHer ™ 7 0000000 6394737 0258772 0021930 0.140351 0118421 7.039474 3478070 40201754 0017544 0640351 0017544 7.0
— B 0010849 6277372 0328467 0047445 0485401 0248175 7.894161 3872263 51609489 0062044 0755474 0062044 80
o XS At o 2t o
* 120 7t 2 cluster®| A E HAX| oA

. RHE WX L 4 AUt
XHE(AE) YHE(QIE) cluster 197} EH 20717 3H 49717 3%
0 126.9011 ~ 126.90700000000001 37,5453 ~ 37 5494 0 197086207 108.096983  84.393382

7) S21AH B =

1 126.5011 ~ 126.90700000000001 375494 ~ 37 5535 0 197086207 108.096983  84.393382
e =X - sum(127 @2 BRX| » 7t &l 4 Jt5X)) 2 126.9011 ~ 126.90700000000001 37.5535 ~ 37.557599999999994 0 197.086207 108.096963  64.393362
3 126.9011 ~ 126.90700000000001  37.557599999999994 ~ 37.561699999999995 0 197086207 108.096983  84.393382
4 126.90700000000001 ~ 126.91290000000001 375453 ~ 37 5494 0 197086207 108.096983  84.393382

* ZF cluster® 2= Of A
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